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1) A sells an article to B at a gain of 10%. B sells it to C 

at a gain of 7 
12 %. C disposes of it at a loss of 25%. If the 

prime  cost  to  manufacturer  A  was  Rs.3200  then  the 
price obtained by C is 
a) Rs.2800  b) Rs.2838 
c) Rs.2670  d) Rs.2580 
 
2) A manufacturer sells an article to a wholesale dealer 
at  a  profit  of  10%.  The  wholesale  dealer  sells  it  to  a 
shopkeeper at 20% profit. The shopkeeper sells it to a 
customer for Rs.56,100 at a loss of 15%. Then the cost 
price of the article to the manufacturer is 
a) Rs.25, 000  b) Rs.55, 000 
c) Rs.50, 000  d) Rs.10, 000 
 
3) A sold a tape-recorder to B for Rs.4,860 at a loss of 
19%. Again B sold it to C at a price that would give A a 
profit of 17%. The gain% of B is 

a) 22 
29 %  b) 66 

23 % 

c) 44 
49 %  d) 33 

13 % 

 
4) A sells an article to B making a profit of 1 5 of his 
outlay. B sells it to C, gaining 20%. If C sells it for Rs.600 
and incurs a loss of 1 6 of his outlay, the cost price of 
article for A is 
a) Rs.600  b) Rs.800 
c) Rs.720  d) Rs.500 
 
5) A saleable article passes successively in the hands of 
three traders. Each trader sold it further at a gain of 
25% of the cost price. If the last trader sold it for Rs.250 
then what was the cost price for the first trader ? 
a) Rs.128  b) Rs.200 
c) Rs.192  d) Rs.150 
 
6) A sells an article to B at a gain of 10%, B sells it to C 
at a gain of 5%. If C pays Rs.462 for it, what did it cost 
to A ? 
a) Rs.500  b) Rs.400 

c) Rs.600  d) Rs.450 
 
7) A sells an article to B at a gain of 20% and B sells it to 

C at a gain of 10% and C sells it to D at a gain of 12 
12%. 

If D pays Rs.29.70, A purchased the article for 
a) Rs.40  b) Rs.30 
c) Rs.20  d) Rs.10 
 
8) A sells a suitcase to B at 10% profit. B sells it to C at 
30% profit. If C pays Rs.2, 860 for it, then the price at 
which A bought it is 
a) Rs.1, 000  b) Rs.2, 500 
c) Rs.2, 000  d) Rs.1, 600 
 
9) A car worth Rs.1, 50,000 was sold by X to Y  at 5% 
profit. Y sold the car back to X at 2% loss. In the entire 
transaction 
a) X gained Rs.4, 350 b) X lost Rs.3, 150 
c) X gained Rs.3, 150 d) Y lost Rs.4, 350 
 
10)  A  piece  of  land  came  to  a  person  through  three 
middleman each gaining 20%. If the person purchased 
the land for Rs.3, 45,600 the original cost of the land 
was 
a) Rs.1, 00,000  b) Rs.2, 00,000 
c) Rs.1, 75,800  d) Rs.1, 50,000 
 
11) A sells a bicycle to B at a profit of 20%. B sells it to 
C at a profit of 25%. If C pays Rs.225/- for it, the cost 
price of the bicycle for A is : 
a) Rs.110  b) Rs.150 
c) Rs.120  d) Rs.125 
 
12) A sells a cycle to B at a profit of 10%, B sells to C at 
a profit of 20%. If C pays Rs.264 for it, how much did A 
pay for it? 
a) Rs.200  b) Rs.234 
c) Rs.225  d) Rs.220 
 
13)  A  man  purchased  an  article  and  sold  it  to  B  at  a 
profit of 25% and B sold it to C at a loss of 10% and C 
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paid Rs.675 for it. For how much did A purchase it (in 
Rs.) ? 
a) 625  b) 550 
c) 600  d) 575 
 
14) A sells a cycle to B at a profit of 5% and B sells it to 
C at a profit of 10%. If C pays Rs.2310 for it, the cost 
price of A is 
a) Rs.2000  b) Rs.2010 
c) Rs.1900  d) Rs.2100 
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